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ECE 2300 — Quiz #3
February 22, 2012

Keep this quiz closed and
face up until you are told to
begin.

1. This quiz is closed book, closed notes. You may use one 8.5” x 11” crib
sheet, or its equivalent.

2. Show all work on these pages. Show all work necessary to complete
the problem. A solution without the appropriate work shown will receive no
credit. A solution which is not given in a reasonable order will lose credit.
3. Itis assumed that your work will begin on the same page as the
problem statement. If you choose to begin your work on another page, you
must indicate this on the page with the problem statement, with a clear
indication of where the work can be found. If your work continues on to
another page, indicate clearly where your work can be found. Failure
to indicate this clearly will result in a loss of credit.

4. Show all units in solutions, intermediate results, and figures. Units in
the quiz will be included between square brackets.

5. Do not use red ink. Do not use red pencil.

6. You will have 30 minutes to work on this quiz.
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Room for extra work



Use the circuit given below to solve for the numerical quantities requested. Show
enough steps so that your work can be followed. Show at least two significant
figures in all of your calculations.

a) Find the equivalent resistance of this circuit with respect to terminals A and B.
b) Find the equivalent resistance of this circuit with respect to terminals A and C.
¢) Find the equivalent resistance of this circuit with respect to terminals C and D.

R,=68[Q] o Re=12[C)] Rs = 18[Q]
r

Rl = R3 =
25[Q] 47[Q] Vo
Rg = _ 33[Q
22?(2] Ry = 15[Q] [€] 75[Q]

R15 = 62[Q]



Room for extra work



ECE 2300 -- Quiz #2 — February 22, 2012 — Solution

Use the circuit given below to solve for the numerical quantities requested. Show enough steps
so that your work can be followed. Show at least two significant figures in all of your
calculations.

a) Find the equivalent resistance of this circuit with respect to terminals A and B.

b) Find the equivalent resistance of this circuit with respect to terminals A and C.

¢) Find the equivalent resistance of this circuit with respect to terminals C and D.

R;=68[Q)] R,=12[Q] Rs = 18[Q)]
A B E
r
R;=
25[9 47[€) Vo

i 75[€2]

22[Q]
’ A ———
= R;5s=62[Q]

We begin by Naming the nodes. This 1S not
but 1T 1S useful. M.s."nj

absolutely necessary,
these , we can s.“Mfl.‘fy wsing equlV
(R, +Ro)1l Ry = 3133823 = Rie
CRST%)H Re = 26693 = Ry
Ry + (Rqll Riy) = 31.64(2] Rig
R, IR, = 17.88(23 = Rig
R)s Il R, Il R = 2371853 2 Rz0

aleat circuts.
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See next
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Room for extra work

wWith these S;\m}pif{‘caffoﬂfj we redraw.

Riq lRg = A28 =R,

From Acre) a 5/>/oeaf-f
to be clear that

the resistaace betwen
A and 3, called Kag, s

Rag= Ry + Ry +Ry + Ky = $1.3323)

- - a -{’A
b) From the figuve obove, £ s clear that e‘
resistance between A and C called RACJ oy

IRM = Ry, = 3132003 |

C) Also from that An‘ajramJ we can See that
the resistance between C andk D, called RCDJIJ

RCD = Ry + R,0 :‘3‘7’.17[)13

SOme Studeats will See this allj more c/ea,-l),)

;‘F we vredraw the Circu:t one more time,

‘ @ Araw: See next
SoJ o needed , we co ld a ( e )




Room for extra work Ry + R,.-, = 3% équl} = K;_z

A c F Ry B

Rie Ra R?.o
D

I-‘F 'f:HS oh\ajr‘am }weIPS )/ou«Jyou .S“Aou/a(
U‘Paw c‘t, T+ A’oe_c; not i‘ake much trme,



